Q.3 For non-negative integers n, let
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Assuming cos~1x takes values in [0, 7], which of the following options is/are correct?
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®)  limf(n) =5

(C) Ifa = tan(cos™'f(6)), then @®> +2a¢ —1=10
(D) sin(7 cos™1f(5)) =0

JEE ADVANCED 2019 "
> - H K1 in( Ktz
g™ 'F(") = éig m(n-pa 70 Sin ?T:f“)
z t( k!

bd 2
Usig 28inAsinB = (o4 (A—B) — Cos(A+B)
k
2 Sin %w)gin En%v) = Ce»s(f\‘ﬂ)— C“((anf )

A gsit( L) = 1 Cos (Retfm)

‘F(“)’ k% Ce'g(h—irz\— M(%—“>

R (Y

=0

5 fee e () - £

n+2

(n+1) — K%oc% L(Zkﬂ ) Q)

n+2




Q z: tos (2EE2) = con 2L )4 Ot (T )t oo e &)

[ tos () + Con(Op)+ Gl A Ca(o4(n-p) = Sin —%(M(_—J’J

Sin
g&g 1k+3>'r = Sin((nt)TC
. oo h+2 Q«\.‘.Q_') QM 4 N 7(>
n+2 Nn+2z

Sin ( o L)

n
C"KCLH-_B = Sin "H“) T R
Eo ntz - ( n+2_ ::2 )T‘j )
g

h+?_

) Z,Cm(lkﬂ)'w— Ce3 27")+ C»&(‘_:\T‘—_Fl g - -\-Cba(‘?;ii>'rr)

nt Nt

2&3(1::: = S Qqc:\——(l—)'zl) (ZT!‘_‘_ nT‘>

S ()

n
2K+t2 - -
==EE)r () ) |
~E)
99 ,F - nt() Cos [T\ — Sh(_"\'l“)Tr
()= nt2 +2) m(n-(-z
n-(-z.
Qin (__—
(n+1) + Q«‘n((n+l+)z >
Sin (n-{-z

§in UT—- e) = Sin (a) ;0 s (Tre) = — eﬁ&(e)



w,ma abouns Pw—PcVFO/S,
fln) = () Ges( ) + cea(;%)
Qa+2)

S

As an advise, the problem looks complicated and difficult to solve. But the tip here should be to
solve individual parts of the problem separately, like | have tried to solve. These kind of problems
do come in JEE Advanced, especially the kind of problems where we have to solve kind of
summation.
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These kind of questions can be scoring, if you keep your calm in the exam. As you can see, once
solved the options are all one liners.



